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Jivg pryé Poradi operaci
Vypocitej a barevné oznac policko s jinym vysledkem v radku.
1 12+ 8x2 40 — 6 X 2 2 x (3+10)
2 15—10 =2 5x2=5 54+ 10+ 2
3 40 + (12 —2) 16 — 6 = 2 21 —4 %2
4 (24 —12) +4+7 40 — 42 10+ 28+ 2
5 V1+4X%x6 (35 + 10) + 32 (-5)2—-1x5
6 1+32—-4 20 — 2 x V16 10+12=2—4
26 + 14
7 * 32 —42 =2 —4 + 3 x 22
7 —2
8 4%x(1+5) =3 18—2=+2 14 — /100 + 22
9 (2 + 3 x 3)? (—10)2 +3x 7 1+ 3+ 72
10 25—-20+5-1 8+12+2+10 10 + +/4 X 52
11 20 Va—1)° 10 — 5 + (—1)2
d=3)? 6—(V4—-1) (1)
12 4 —2%2x -1 7 — 3 x+/25 4x5—V16x7




